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The Cuban Missile Crisis

The Cuban Missile Crisis is considered the climax of the Cold War between the Soviet Union and the United States. The crisis, which occurred in 1962, consisted of a standoff between U.S. president John F. Kennedy and Soviet premier Nikita Khrushchev over the Soviet plan to install nuclear missiles on the island nation of Cuba, just 100 miles away from Florida. 


The United States and Cuba had grudgingly maintained rocky relations since the U.S. military forced Spain to surrender Cuba at the turn of the 20th century. Although Cuba was inaugurated as an independent nation, President William McKinley introduced the Platt Amendment, which allowed U.S. intervention in Cuban affairs, in 1901. That legislation was valid until 1934. Since that time, various dictators had run the Cuban government, and the national climate was ripe for revolution. In 1959, Fidel Castro stepped forward to lead that revolution. Castro's anti-American stance, admiration for the successes of Soviet communism, and close geographical proximity to the United States made Cuba under his leadership an able pawn for Khrushchev to wield in the Cold War.


Since Cuba was heavily dependent on the U.S. purchase of its sugar to buy oil and other essentials, the Soviet Union began exchanging sugar for oil in 1960. Freed economically of ties to the United States, Castro now saw a distinct advantage to Cuba's communist alignment with the Soviet Union. Meanwhile, Khrushchev's ambition to expand communism in the Western Hemisphere found a foothold in the small, revolutionary nation. Their symbiotic relationship progressed through 1961: Castro gained resources to fund his revolution; Khrushchev gained power and a potential offensive battleground in the West.


By that point, the Kennedy administration had committed itself to the overthrow of Castro by covert means. The Bay of Pigs invasion, one such attempt to oust Castro from power, was a disaster. On April 17, 1961, U.S. forces transported about 1,500 Cuban dissidents to the island. Having been trained by the US Central Intelligence Agency (CIA), the dissidents' mission was to instigate an uprising, gain national support, and overthrow Castro. However, the renegade force was quickly quelled by Castro's military, which caused two crucial effects: Kennedy and the CIA were humiliated, and Cubans pulled together in the wake of the invasion to support Castro. In December 1961, Castro formally declared his conversion to communism.


The nationalization of Cuban communism opened a window of opportunity for the Soviet Union, which desired both the expansion of communist doctrine worldwide and the threat to the United States in its own backyard. The installation of Soviet nuclear warheads in Cuba was carefully considered by Khrushchev and his advisers, several of whom pointed out that U.S. warheads already installed in Turkey could destroy Moscow, Kiev, and other major Soviet cities at any moment. Although it was anticipated that the Kennedy administration would balk at Soviet nuclear arms in Cuba, Khrushchev thought that if the missiles were secretly installed, Kennedy would have no choice but to accept their presence.


The U.S. had no plan in place because U.S. intelligence had been convinced that the Soviets would never install nuclear missiles in Cuba. The EXCOMM quickly discussed several possible courses of action, including:
1. No action. 

2. Diplomacy: Use diplomatic pressure to get the Soviet Union to remove the missiles. 

3. Warning/Air strike: Send a message to Castro to warn him of the grave danger he, and Cuba were in. 

4. Blockade: Use the U.S. Navy to block any missiles from arriving in Cuba. 

5. Invasion: Invade Cuba and remove the missiles
If you were President Kennedy, which action would you take?
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Stop Reading and Complete the Cuban Missile Crisis Analysis



President Kennedy chose a quarantine where Cuba was to be blockaded.  All shipments coming into Cuba were to be stopped and searched.  Any shipments containing missiles or war materials were to be confiscated.  If a ship refused orders to be stopped and searched, it would be sunk.  


Ultimately, Kennedy and Khrushchev defused the crisis with the following agreement: on October 28, Khrushchev decided to withdraw the nuclear arms from Cuba on the condition that the United States declared publicly that it would not attack Cuba and privately withdrew its nuclear arsenal from Turkey. Castro was unaware of those negotiations, which reveals the degree to which Cuba was viewed as a minor player by the Soviet Union.


Although the Cuban Missile Crisis lasted only 13 days, its repercussions were considerable. Having come closer to nuclear war than ever before, both the United States and the Soviet Union were more cautious about offensive deployment of nuclear arms during the remainder of the Cold War. The crisis also served to expose an American vulnerability to nuclear attack that had not been evident previously. Yet another consequence of the Cuban Missile Crisis was the economic embargo that the United States has imposed on Cuba since 1962.
